MBI BZ&SH K

_ 1T
- FER - i
NEW CAD
m
¢ \'/ ors xn | mm | mE | aww |SOEERRER maw | @mm
v GMSWML
NCTChTEEl HEH | BEL | EBFE ;
GMSWMLH Lo | E8ixX [56HRC ~ | RHEN
_CVEHMLE | wae | mws | B2RE —
GMSWM2LH = P
FREREHI X
& oL Mo o L
H9., H12, H14 @) ||| ® H16 © ©
o oF © ©
H e o H
| B. -
L Lo
‘+> St Lo D ~C .
‘ ‘ A-L{j)_‘l-f c dl 1 1l
& [Pl sl I — L FT T3 iR ARSI s
i — ] ‘ ‘ |- We _| } P
S e . AN TweT
iTH4R S
(1 13d=7 - ®H - ©L - o0EmRsS
GMSWML - H9 - L200
GMSWM2L - H9 - L500 - z2
Bs EHRRT
ors OH oL Hi N w B © L L S
GMSWML 9 2 11 36 29 19 32.5 43.5 M4
GMSWMLH 12 501000 3 11 40 33 24 40.6 51.6 M4
GMSWM2L 14 3 13.5 51 44 28 47.4 61.6 M4
GMSWM2LH 16 3 16 74 65 35 59.9 74.9 M5
s BIRS E=%IN B 52
- - hEE L E | BREUERE | B B
0{&"5 e H Wr Ws Hr D h d P EE?@&R? C(kN) CO(kN) (kg) (kg/m)
GMSWML 9 14 - 5.2 6 3.2 3.5 30 M3X6 1.7 4.0 0.05 | 0.50
GMSWMLH 12 18 - 7.5 6 4.5 3.5 30 M3X8 2.6 5.3 0.09 | 0.96
GMSWM2L 14 24 - 8 8 4.5 4.5 40 M4x8 3.9 8.5 016 | 1.40
GMSWM2LH 16 42 23 9.5 8 4.5 4.5 40 M4X10 7.2 14.3 030 | 2.95
ANEREARESEZAEE [REFLRKIE] = P331 BHK “HESH - migh”,
iV
J)
My Mr Mp
™ N P
EEHININT QBN R e °] 5
R BRI G E gl 5 ==
PE 7078 0 2-8 B, HREESILE .
B3 BRI l: GMSWML-H9-L1000-24 _
®E 1000 KHSH LR 5 R BRI
wi& EE BRI R L oH M= Me My
#He HinE . S0 2-8 Bk, FHEIREDLE . KN=m KN-m KN-m
5, SEHREEN l: GMSWML~H9-L1000-ZB4 9 28.8 12.1 12.1
1000 KSH EAE 1 #BIR, B4 HaRehEsE, 12 49.5 20.2 20.2
A BREBRREERELE 14 104.6 38.6 38.6
A BRR A EBIRFRE 16 305.2 86.0 86.0
21~ 1~9 10~

100% TR

375 EEFRIEIESERHRE SN www.ant—fa.com



